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Q2 Stress
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stress distribution (a)

stress distribution (b) stress distribution (c)

The rod shown above is made up of a square core (1) and a square tube (2) The Young's
modull for (1) and (2) are 2€ and E. respectively Consider the three normal stress distributions
above. Choose the comect stress distribution for ths rod
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© Stress distribution (c)

Conuder e Tree member et above with members (1) and (2) being aigned A \oad P acts
10 e left ot joirt C with P baing sigred with membens (1) and (2) Choose the correct
resgonrse Delow reiated 10 the wess N member (N, 3.
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Q4 Rod stress - 1
2 Pores

Consder Te o member 100 Shown above
TRUE or FALSE The stress n member (2) depends on the materal makeup of member (1)
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QS Rod stress - 2

2 Points

Consider the two member russ ShOwn above.
TRUE or FALSE: The stress in member (2) depends on the material makeup of member ().
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Q6 Hooke's Law
2Porss

an block i3 placed two fimed. smooth wats. The block is made up of &
material having Young's modulus of E and Possor's ratio v > 0 A compressive stress o0 8.
appiied 1 the block, 88 shown sbove. As & result, the sides of the block are In contact with
he walis. Let @, and ¢y, represent the normal stress and stran in the y-direction in the block.
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TRUE or FALSE #, = B¢,

Q7 Compatibility equation
2 Pores

Consider two elastic rods (1) and (2) attached to the rigid bar BD. Let €1 and €2 represent the
elongation of rods (1) and (2). respectively. Choose the correct compatibiity equation below
relating €1 and €3 for small rotations of BD:
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